


Our Leather Bound Engineers Note Books are °
carried in the following rulings:

No. 380 LEVEL BOOK. Left and Right Hand Page the
same as Left Hand Page of this

Book.

No. 382 FIELD BOOK. Left Hand Page as in this Book,
Right Hand Page 4 x 4 to the

inch, Center Line Red.

No. 384 MINING TRANSIT BOOK. Left Hand Page
~ asin this Book, Right Hand Page
_8x8 to the inch, Center Line Red.

No. 385 FIELD BOOK. Left Hand Page as in this Book,
Right Hand Page 8 vertical and

4 horizontal lines to the inch,
- Center Line Red.

We also carry the Note Books listed above, bound in
extra strong Fabri-Hide (otherwise the same quality
of book), which can be furnished at a somewhat lower
price. .

In ordering Fabri-Hide covered books, add the
letter “/”” to catalog number.

THE FREDERICK POST CO.
ENGINEERING and DRAFTING SUPPLIES
IRVING PARK STATION
CHICAGO, ILL.
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TABLE IT—Continued ‘ TasLe IV
TRIGONOMETRIC FORMULAE (continued) USEFUL RELATIONS.
In any triangle: Lineal feet  %<.00019: = miles
Given a, b, C; to find ¢, B, A. gineal yaris §8896 = miles A
quare inchesX. - = square fee
.Use Law of Tangents. Square feet X.111 = square yards
Given A B. c; to find a, b, C. Square yards X.0002067 = acres
Use Law of Sines. 1 Acres X4840 = square yards
Given a, b, ¢; to find A, B, C. ‘ Cubic inches X.00058 = cubic feet
Cubic feet ~ X.03704 = cubic yards
a+-b+e ! (8—a) (s—b) (s—oc) 18 Links 500 = yards
2 ? S = Links X.66 = feet
Feet X1.5 = links
s(s — a) 360° = 21600’ = 1296000”
T" : Radius = arc of 57.2957790°
Are og 1 (ra,g.ius = 1) = .017453292
v _p Arc of 1” (radius = 1) = .000290888
tan J5 A = — Arc of 17 (radius = 1) = .000004848

&
r T = 3.141502654 \/ L — 0564190
b 4
r : S : 3] 6
TRry S . o = 0.785398163 \/ - = 1.240700982
Area of a triangle: °
Area = 14 ab Sin C

Ares =A/5G6—2) G=H G= 9 ' _
PRISMOIDAL FORMULA_ = 1.128379167 el 0.101321184

Vol. = — (B+b+4M\
h= altltude, b, B = bases; M = midsection

Let

905 VLA =

t:an%B=‘5

0.523598776 7? = 9.869604401

— ():ﬁ/,,‘:‘
% 0.523598776 /T =1 T72a53851 o2

(.
Ji

1
_3."“ = 4.188790205 — = 0.3183099

TasLe III
INCHES AND FRACTIONS OF AN INCH IN DECIMALS OF A Curvature of Farth’s surface = about 0.7 feet in 1 mile
FOOT Curvature in feet = 0.667 (Dist. in miles)? -
5 ’ ' {0 Difference between arc and chord length, 0.05 feet in 1114 miles
o | 1 lfo2hlds i B0 | Tol Ay =
g;}l? ;ggi gigg gg;? Probable error of a single observation = 0.6754 i
.6823|.7656(.8490/.9323
.6875(.7708(.8542/.9375
.6927,.7760(.8594/.9427
.6979|.7813|.8646|.9479
.7031/.7865|.8698|.9531
.'7083|.7917|.8750,.9583
.7135.7969(.8802|.9635
.7188(.8021(.8854| 9688
.7240/.8073|.8906/.9740
.'7292(.8125(.8958/.9792
.7344/.8177/.9010.9844
.'7396/.8229/.9063(.9896

Error in chaining of 0.01 feet in 100 feet:
Due to—
1. Length of tape error of 0.01 feet
2. Alignment. One end 1.4 feet out of line
3. Sag of tape at centre of 0.61 feet.
4, Temperature difference of 15°
5. Difference of pull of 15 lbs.

STADIA REDUCTION FORMULZ.
Horizontal Distance = R — R sin? a+C cos a
Vertical Distance = R 14 sin 2 a+C sin a ;
7448].8281| 9115|9948 R = Reading X distance from Objzct glass to cross hairs
.7500/.8333).9167/1.000 distance between cross hairs
8 |9 (10] 11 C = distance from Object glass to cross hairs + distance from ObJect
glass to center of instrument.
a = angle of elevation for mid Reading
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